T10

Ex gmle 5.1: Smjfe ‘a&er pokorha, o’erm‘or Y

given on a circle S with the redius r r.e.

P=0@ = [x=xtt)=r [Tors Je R*: 0st ca]

Then we have: E&lb)‘“i[nlk-ul

Vvey) = SEGWIds, == f § n eyl o,

X y65) Sﬂauw-xml V(X4)) 1%6)] ds
3(6)

_ " Cod ZF{ c6s Z?S ]
Xt =r | Sl 20¢ ] ) YS) =0 | sae 20¢

Ixt)| = |aire [‘c‘;: 24 | = 2oy sin't) seadr= i

cos Wt~cos 2Bs )| _ | = 2 sm¥Tlpes) sin N (4-y)
gl [ m Gl 0 |3 s mte s
=\ Urt sin®Tt-5) (em2TL6) + cos TiFSY)

= wﬁwl smilT(t~¢) = | 2r sda T(e~c)|

= ” gg,\(z,-m Te-¢)| vixet) 2T &

= —rln Jrf Vexl)dt - r S On | 30T (£-5)] vert)dp
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